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180" = 7 (rad)
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(1) 2(rad)=x" = x= (2) y(rad)=12" =y =

y:asinbx+c:>(T)§fPE)=a,(@Eﬁ)=%~ y:tanbx:()%%ﬁ)=%
777
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(1) y:sing+1 (2) y=sin®*x (3) y=tan2x
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(1) sinx:—% (0= x<2r) (2) cosx§—% (0<x<2r)

(3) tan(x—%):\@ (0 x<7)
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sin?x =1—cos’ X (cos2 X =1—sin? x) 1+tan’x =

. sin x
- (cos2 X+sin>x =1, tan x:—j

cos?® X COS X
. . . 1
sin(a+ B)=sinacos f+cosasin B COS°X=————
(a£5) p p 1+tan’® x
. . tana £ tan g
cos(a+ B)=cosacos BFsinasin B tan(a+f)=————
(a£5) p p (@£ 4) 1Ftanatan 8
Sin2x=2siNXCOSX  COS2X = C0S” X —sin® X tanZX:Ln;(
1-tan® x
sinzx:# coszx:# asinx+bcosx =+/a’+b?sin(x+0) (tanezgj
a
sinA+sinB=25in'A‘ZI'D’COSAJZFB sinacosﬁ:%{sin(a+ﬂ)+sin(a—ﬂ)}
sin A—sin B = 2cos A; B sin A; B COSO(Sinﬂ=%{Sin(d+ﬂ)-3in(d-ﬂ)}
cosAJrcosB:2cosA;BCOSA;rB coswcosﬂ:%{cos(a+ﬂ)+cos(a—ﬂ)}

cos A—cos B =—2sin A; B sin A; B sin asinﬂz_?l{cos(a+ﬂ)—cos(a—,3)}
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(1) Y o =M%

COSOt:—l cosﬂ:

3
sina = sinf3 =
tana = tan,B=2«/§

(2) sin(a+pB)=
cos(a+f)=
tan(a + ) =
sin2a = CoS2a = tan2p =
sin2% = cos’Z =
2

(3) \/§sinx—cosx:rsin(x—49) =r= 0=
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